aining blank pages.

compulsorily draw diagonal cross lines on the rem

Important Note : 1. On completing your answers,

50, will be treated as malpractice.

appeal to evaluator and /or equations written eg, 42+8

2. Any revealing of identification,

USN

SAN =

Define Metrology. What are th o (07 Marks)
Explain the classification of standards along with exampl@s (07 Marks)
Give brief note on Syste,mﬁof’ Measurements. 2 (06 Marks)
OR

Explain slip gauge p detall What are the variolis methods available for the selection of slip
gauges? (07 Marks)
What are Autocolhmators? Explain with' ne@?’%ketch (07 Marks)
Build up, a’,dlrr;ensmn 0f 69.2875 mm aqd 101.345 mm using M112 set slip gauges.

/ ;% (06 Marks)
Explain he interchangeability ¢ and “selective assen}%blyIi (10 Marks)

e
Determine the actual du&énsxon for a hole-shaft p: ir ;H7/fg dimensions 28
falls in the range of 18 tg%jgmm runaamema&@wa‘mn for f sna’f s—5. s, IT7 = 16i
and IT8 = 25i. Toleranéewhmlt i=0.45D'" MQ 001D (Microns). ¢ (10 Marks)

O{%@% (s
Explain Tayler 5 pr1n01ple for the dgmgn of limit gauges. (07 Marks)
Briefly explam the wear allowances On gauges. »’ ¢ (06 Marks)

Determine the types of fit aﬁer»,%emdmg the ﬁmdam%gntal deviations and tolerances in the
followi

y . L Mg

Fit ¢76H9 e7 , Diameter step%% - 80) P i

Fundamental dev1at10n fef‘*mshaﬂ =—11 DO‘{,L

177 = 16i and Hy —J401 i€0.45 YD +0g gmﬁ‘ (07 Marks)
Ve Module-3
’%ﬁhod of measuring the effective diameter of a screw

% (08 Marks)
Explain with.neat sketch the workmg of Tool maker’s microscope. (07 Marks)
Explain Runout and Involdite profile of a gear. (05 Marks)
/ OR
Explain any one lasersinterferometer with neat sketch and their applications. (10 Marks)

With a neat didg ram explain the constructional and working principle of a coordinate
measuring machine. (10 Marks)
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Module-4 9%
Explain with block diagram generalized measuring s%sité (08 Marks)

Define the following :
(i) Calibration  (ii) Threshold  (iii) SCI’IS/%}!‘)VIFYX (iv) System-Response and time delay

) (12 Marks)
«&% % ,@w
é@Rm
What is photoelectric transducer? Ex&lalnﬁ%lth neat sketch. (07 Marks)
With a neat schematic, explain the basic concept of Ballast circuit! " (07 Marks)
Differentiate between oscﬂlogrgph oscilloscope. (06 Marks)
" Module-5
Explain with neat sketc}%h&gvP%égnv—Brake dynamo etg:r (10 Marks)
Describe the McLeod &aﬁ@ﬁ with a neat sketch. f@“ (10 Marks)
OR Vs .

(07 Marks)

(05 Marks)

(08 Marks)
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